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General Instructions:

1. The question paper comprises of six sections — A, B, C, D, E and F. There are 37 questions in the
Question papers. All questions are compulsory.

2. Section A — From questions 1 to 20 are MCQs of 1 mark each.

3. Section B — Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks each.
Answer to each question should not exceed 40 words.

4. Section C contains Q.25 to Q.29 are Short Answer Type Questions, carrying 3 marks each. Answer
to each question should not exceed 60 words.

5. Section D — Question no. 30 to 33 are long answer type questions, carrying 5 marks each. Answer to
each question should not exceed 120 words.

6. Section-E - Questions no. from 34 to 36 are case based questions with three sub questions are of 4
marks each. Answer to each question should not exceed 100 words.

7. Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37a from History (2
marks) and 37b from Geography (3 marks).

8. There is no overall choice in the question paper. However, an internal choice has been provided in
few questions. Only one of the choices in such questions have to be attempted.

9. In addition to this, separate instructions are given with each section and question, wherever
necessary.

TS-P/Section A - 98 fAHENT WY /MCQs (1 X 20 =20)

1 wig H "fafe dee & Fgaq uRom 9 | 1
(3NTRTT B I TS BT HH gl oIl &
(@)W B d¢ S g SR Jad TR TR A 8] BRe, qbl
() HHSR IRR, SR, Hidh 3R T8l dob fob Hio Teet <1 &7 SR §d1 8
(@)SRIad gt

The "crisis of subsistence" in France had the following consequences

(A)Bad harvest leads to scarcity of grains

(B)Food prices rise and the poorest cannot buy bread

(C)Leads to weaker bodies, diseases, deaths and even food riots
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(D)AIl of the above

IR R T Uy H, HY7 (A) SIRHRU (R) F TUH RRTQ HUTTI FUT R Ug 3R 1
g1 fade g

BHYA (A): I b AN A ST o el Bl @Gxd B 1|

HIRUT (R): AT ! IR bt B o7 3 XVI TG HHIST & g Bt GHTaAT ot |

(3) A 3R R TH T 8 3R R, A P! JgI RS B |

@) A 3R R THI I € AP R, A P! T T T8I B

@) A I § AfpT R T B

(@A TTAd g AfbT R T B

In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statements and chose the correct option:

Assertion (A): The people of France stormed the fort of the Bastille.

Reason (R): They were hopeful to find King Louis XVI and commander of the
Bastille there.

(A) Both A and R are true and R is the correct explanation of A.

(B) Both A and R are true but R is not the correct explanation of A.

(C) A'is correct but R is wrong.

(D) A is wrong but R is correct.

T8 5T O &1 A Bt <srdiet i e ST 8 1
(30 gyH fay ?1?9’ HHIG BT 9118 T

(a)ﬂ-ﬁr EARSIGRSEIIEIEIREY

(H)dP! BT APIHUT T ST AT

(@) SIRIad g+t

Which of these demands is/are referred to as “Lenin April Thesis”?
(A)World war I should end.

(B)Land should be transferred to the peasant.

(C)Banks should be nationalised

(D)AIl of the Above

e Yiedart # gsdrad U= U HH=nial & o g ot 2 1
(30) B %HHqﬁucme 316 G HAT

What were the demands made by the worker in St. Petersburg who went on strike?
(A)Reduction of working time to eight hours.

(B)Increase in wages

(C)Improvement in working conditions

(D)All of the above

fecer @1 fagxr -fifd &1 e Ie=a &1 o, o e Rl fgaid fay g fovs mam 1
(3) JHTSTATG BT faR @RI Y &1 Famo

@) fasy wifa &1 ya™ (G)oTHA & & faR

What was the main aim of Hitler's foreign policy, which led to the outbreak of World
War 11?

(A) Expansion of socialism (B) Creation of a European Union

(C) Pursuit of world peace (D) Expansion of German territory

™ I T 39 <=1 &1 Fareh § forg o= &1 I WRd & 1y 18 et @, S S fob 1
% 9 2 31 FHarf g2

(30) Y& CEURERIIE]

(H) Siveres (@) Aurd

My friend hails from a country which does not share land boundary with India.

Identify the country.
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(A) Bhutan (B) Tajikistan

(C) Bangladesh (D) Nepal

SEIYA el §, SRR T Fe §8T 3MeTe T e 82

(3)THaT (S@Pm

(W) et (@) Hrell

In the Brahmaputra river, is the largest inhabited riverine island in the world.
(A) Narmada (B) Krishna

(C) Godavari (D) Majuli

Fafafed & 9 o @ THeidE YR 3 9ol et 74 82

(3THaT (ST

SIMIEER (@) HEHC

Which one of the following is the longest river of the Peninsular India?

(A) Narmada (B) Krishna

(C) Godavari (D) Mahanadi
faym & Faion & S YHerel & wry Faferad Adrell o1 fier o<

3 HNditeTe g |-G 9T & Sreae A

ERNRIERU ISR 2- AU JHT P Yo

- ol TS 3- URSY HiAfd & sfege

G-TRIFSF TRrg 4-1928 T YR & foTg T Afqer &1 fofor
(31) H-4,d-3,9-1,G-2 (d) 3H-4,d-2,9-1,a-3

M) AH-3,d-2,9-1,¢-4 (@) H-4,d-1,9-2,&-3

Match the following leaders with their roles in the making of the Constitution:
a Motilal Nehru i President of the Constituent Assembly

b B.R. Ambedkar ii Member of the Constituent Assembly

¢ Rajendra Prasad iii Chairman of the Drafting Committee

d Sarojini Naidu iv Prepared a Constitution for India in 1928
(A)a-iv,b-iii,c-i,d-ii (B)a-iv,b-ii,c-i,d-iii
(O)a-iii,b-ii,c-i,d-iv (D)a-iv,b-i,c-ii,d-iii

79 9 B 91 U1 UIaY § Sff U Aidbdiie Siaem | 781 62

(3NTST & GRYaT 1 Afdear ()T & GRITT BT

@) fyenfieT & wfgaar (TR BT |

Which of these is a provision that a democratic constitution does not have?
(A)Powers of the head of the state (B)Name of the head of the state
(C)Powers of the legislature (D)Name of the country

&7 TIpTRT H Addie TfauT & i # gad g sidffed oy $99 9§ BH
T Y1?

(3)CTRITT STBIpT 3R TP USIdl & st

@) TN 3R Aiganstt & s

(H)Rdd TgHA 3R 38T U & otal

()R SIS 3R HTdl IgHd & S

Which of these was the most salient underlying conflict in the making of a
democratic constitution in South Africa?

(A)Between South Africa and its neighbours

(B)Between men and women

(C)Between the white majority and the black minority

(D)Between the white minority and the black majority

%@rg%%mﬁ%mﬁgﬁm%aﬁﬁmﬁﬁﬁmﬁvﬁmmﬁ
)

(31)3Y feT BT TIT D oY MY YU Ft b =0 H IS HRd &

(@) YU Tt B S/ B3 fordeh U AbaHT & §gHd

@l FeA! gRT uId fade R qAfdaR & fow s
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()3T G & 13l I HEuRye H AHifed B9

If you are elected as the President of India which of the following decision can you
take on your own?

(A)Select the person you like as Prime Minister.

(B)Dismiss a Prime Minister who has a majority in Lok Sabha.
(C)Ask for reconsideration of a bill passed by both the Houses.
(D)Nominate the leaders of your choice to the Council of Ministers.
Fofafed & 3 o d Wdaal YR RS $1 SUdsd a1 67
(3NIRBR B TG XA B AT

(F) TR Hifd H HIT 4 P aaadl

(A ERDR IGa & {7 TG Y= B b1 WAl
(ORDBR & Bt Ged| BT foR1e A ol TaaAdl

Which of the following freedoms is not available to an Indian citizen?
(A)Freedom to criticise the government

(B)Freedom to participate in armed revolution

(C)Freedom to start a movement to change the government
(D)Freedom to oppose the central values of the government

fFofefad & @ o9 a1 iR YR TfRy™ & Aifeie iR & 3idiid Iudasy 82
(3N)PBTH B BT DR @) Taf 3MTeiifdeeT o1 PR
() IRP P 3R Aféd SRBR @)frerar &1 B R

Which of the following rights is available as fundamental right under the Indian
Constitution?

(A)Right to work (B)Right to adequate livelihood
(C)Cultural and Educational Rights D)Right to privacy

379 5 Uit 1 e F1 -
<&Dm{g _ @
) LSl CALIECR Sl

Which capital would you consider the best —

(A)Land (B)Labour,
(C)Physical capital (D)Human capital
TRiel H 99 TRd B 52

(31) SHieR, Tt ik urféat

(@) AT, g 3R =

@R, e sftre SR R

(@FH I B T

Who are the poorest of the poor?

(A) Landlord, ministers and parties

(B) Women, old people and children

(C)Landless, daily wage workers and homeless
(D)None of these

IR T T Uy 7, Hu7 (A) IR BRI (R) F TU H RIfed ) HY= & | §U1 &1 U 3R

gl faeed g

;%grém: HRA H AR QoI STl SR enfifer sl & Ao # agd U wd
|

HRUT (R): AT & SR JTHITS-Tp e gaTd gial g |

(3) A 3R R THFI T 8 3R R, A P! Jg! AR B |

(@) A 3R R THI I € AP R, A P! T T T8I B

(A T § Afh R TTed 7

(@A TTAd g AfbT R T B

There are two statements marked as Assertion (A) and Reason (R). Read the

statements and choose the correct option:
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Assertion (A): An average Indian has to spend huge amount on marriage and other
rituals

Reason (R): There is socio-cultural pressure.

(A) Both A and R are true and R is the correct explanation of A.

(B) Both A and R are true but R is not the correct explanation of A.

(C) A'is correct but R is wrong.

(D) A is wrong but R is correct.

7l & UfergTRIe BRI Bt UG BT .
(SR SrfeaRyT & Ufagd fafer RER Ht Aifaar
() fy e )

@ Bt R &1 TR

(@) 3T FURRGA

Identify the historical reason for poverty

(A)British policies not in favour of the local economy
(B) Lack of land resources

(C)Low level of education of the poor
(D)High level of indebtedness

farerRuT gumTedt gRT faaRd HieH & T ¥ WeT A1 g |
(SNHURATT @ fH
Q)P HATeTT
(@)Y 3R URaR Al BT HATY
(@y@re f o faumT
The food distributed by the Public Distribution System is procured through ---—-- .
(A)Food Corporation of India (B)Ministry of Agriculture
(C)Ministry of Health and Family Affairs (D)Department of Food Control
gRa wifd & ey & Fafafed & § & 91 Hu= I3 82
(38R T b F1e G 37epTel I T2 5
@eRd ifd 3 T H srepra 31 R ) IR e pR R
@)gRd wifd YRd H 31d1a ¥ Hueq # fawa W&t

()8R Hifd 7 URA & 3/1d ot ge13ii & 9¢ fear

Which of the following statements is true regarding the Green Revolution?

(A)The country has avoided famines after the Green Revolution

(B)The Green Revolution has worsened the famine situation in the country

(O)The Green Revolution failed to deal with famines in India

(D)The Green Revolution increased the occurrence of famines in India
TS-W/Section B Glﬁ' I UY/VERY SHORT ANSWER QUESTION (2x4=8)

e et fafkry ﬁiﬁw R
What are the peculiar features of Nazi thinking?

HTHIR H & iR I B} 3@y & i mwmamm%m
7 T 1 e 8

Why is the difference between the durations of day and night hardly felt at
Kanyakumari but not so in Kashmir?

Or/3¥YdT
82°30'E P YRA B! A HHTE X1 & &0 J I 1 71 82
Why 82°30'E has been selected as the Standard Meridian of India?
R 3ifYeafert 1 ST I Il bl Hi e =fe ot e iR Hepiof dra et
3T 82 1 375 o dl Bl YT XA B 3oTTerd 4l S ATee?

Should the freedom of expression be extended to those who are spreading wrong
and narrowminded ideas? Should they be allowed to confuse the public?
ATa goft fFmtor 3 fRem ot o YieT 82

What is the role of education in human capital formation?

IX/SOST/5

N

N



WS- /Section C - oy ITRIT UH/SHORT ANSWER-BASED QUESTIONS (3x5-15)
25 1917 9 UG & H BIHDBISI eI Y & 37 ¢RI I foby avg 3reiT e
In what ways was the working population in Russia different from other
countries in Europe, before 1917?

Or
1917 © SRR & ARG RIAT &1 U= i g1 T
Why did the Tsarist autocracy collapse in 1917?
26 iR ford
Distinguish between
YITR 3R e
Bhangar and Khadar
Or/3{Ydl
af$ft ure iR g e

Western Ghats and Eastern Ghats

27 FgfaRad Heul & Th SR GHR Idr) fos URdR =arauiferen forg dRe Waw
RERIRCEER)
SR &t Fgfad
§-SFSll 1 g .
- rguTfeieh] i Qfckial
Give one reason each to argue that Indian judiciary is independent with
respect to:
A-Appointment of judges
B-Removal of judges
C-Powers of the judiciary

28

IRADT 3.1 BT & B R FgfaRad usf & SW e

28-31-1993-94 3R 2004-05 % Aeg H fefar srurd & iRt 3 & drasg
e[ Y TR T 407 P T A &1 Xt )

2897 YTHIUT 3R WS HRA A TRist H it o) Mforfidar 9= 82 (1)

Study Table 3.1 and answer the following questions:
28-A-Even if poverty ratio declined between 1993-94 and 2004—05, why did

the number of poor remain at about 407 million? 2)
28-B-Are the dynamics of poverty reduction the same in rural and urban
India? @

29 9IgHR TMURTST & HIHA ST dTelt GHRTS BT 90i HY
Describe the problems faced by the Weimar Republic
WS- /Section D- dT¥ ITNT UY /LONG ANSWER-BASED QUESTIONS (5X4=20)
30 opifd O ThI THIST & fobd THg! Bl ATH g1 foot Tg! & <l Ble o forg
AR foma T2 Shifd & RO I TS &1 B T aF (ARTRT 34T g1
Which groups of French society benefited from the revolution? Which groups
were forced to relinquish power? Which sections of society would have been
disappointed with the outcome of the revolution?
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Or/3YdT

3 Adhdie IR &1 Th Tt a8 5t 31 84 i §U & et Safu@em

THTRIT Shife 7 82
Draw up a list of democratic rights we enjoy today whose origins could be
traced to the French Revolution

31-i) Q1 gaiiere ol aTet WY & A1 Fd18T|
31-(ii) &1 T Y[ WA & 17 Fagy|
31-(iii) TaTeH A STAIR] aTat & W |
31-(iv) Faifee fauH STear] ard &1 R |
31-(v) died A | guIfad g R M|

31-(i) Name two rainiest stations.

31-(ii) Name two driest stations.

31-(iii) Two stations with most equable climate.

31-(iv) Two stations with most extreme climate.

31-(v) Two stations influenced by retreating monsoons.
oA Td et g1 &1 gHIfar o 82

What are the challenges of free and fair election?

Or
AT ST & U Sa-11 Mol ol &, o1 I8 UolTad o [oTd SiesT 82
Why does the Election Commission have so much powers, is this good for
democracy?
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- yRad HIEV AT GV/ literacy rate in India

UMW BT T P 3R FHfaRad usl & IW ¢:

1. 9T 1951 P 918 T ST Bt reRdl &R § i 3 87
2. YRd H &Rl R fod 9 Haifie 81

3. YRA & GO H TIeRdT &R e i 872

4. TfGQATE GBS BT gor1 | o RIfda 1 62

5. 3 HRd H F&RAT R B1 TUAT b D2

Study the graph and answer the following questions:

1. Has the literacy rates of the population increased since 1951?
2. In which year India has the highest literacy rates?

3. Why literacy rate is high among the males of India?
4. Why are women less educated than men?

5. How would you calculate literacy rate in India?

WS- T /Section E Fid STUTRT UY /CASE-BASED QUESTIONS (4X3=12)

faw U fom o7 wgde Sregg &% SR gl usl & SR <

(i) STTEReT | forg 31mg ot o1 Rt e 3ifeep 82 (1)

(if) P ST P AU SRR ST &1 ufawrd fba1g?  (2)

(iff) HRT Pt AT STRe fpat ufara 82 (1)

Study the given figure carefully and answer the following questions:

(i) Which age group has the maximum share in the population? a

(ii))What is the percentage of working population in relation to the total population? (1)
(iii) What is the percentage of India's dependent population? a

2 fau T Hid &1 U SR g vl & IR &

99 B T BT SIS WP afaash ags @R diucd $i9) Hed ¢l I &
T & forw ufa ufa o a1g Faftd w0 @ gma 81 §1 59 UG &1 o1 &1 Igufd fged
TR BT HUBR g1 3T P I I HIF 3000 Te 1A § | TS TGl BT A o7 oft
Rl 81 g1 T8 ¥ Ugd It IWigar] @1 S gk urdf ¥ HeRt ot gl
2002-03 & gU TGl & Rt HRIfRe uret 3iR S99 Uag $3 SIc Uil & Jal &l gl
AT TS B SATAR el | TRBR el FRAE urel &1 1 a9 81 1930 H 31eTE g1 &
ITe & Dfede! § 8 B a9 916 PR I & 1T g I 1 &1 o1 | ot oft wish
T 1 ARS8l S| AfbT I 2000 b &% @ H R GaRA
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Raleg=mR_Y urel) A1 &1 T urel @ g1 Sia et ot fauelt g gma o fewr od e R
Faft 1t 3% Sild SR 81 gl Ul 19 T TRE-RE & gYUdhs UATH &R gld H oiid
BRI B & forg dremReis Hemd Ut BRI SRl & &1 oA arad 9o @l o g
a7t @t Jod! H ST AR o7 | TSR Il & AUS 30 S SETSH & A9
flamRamg & foru dic 37 &1 wed A1 Wifsar off Se-ae fqueht g Bt Sree R &
ST IIh! ATARAT P ToRS{aS &t Hxa | H8 aR Udhan Sifad &on & Adaq bl
DI Uh S8 Y BB QORI S8 R a1 Srar o1 forqd 3Heh dlv dle g1 7ol 1 uTd U
HR3MS U ITHGARI & FAT R IR HIW U g Bt At | D & gAmar & amnt
& YA B3 arRdfad R TR fawer & T8t a1 arfl & IS gd a1 IqPS gRI
Wera Infieart &) & die 31 8IdT 81 1 81 U FAWRiE 9ATd &g Tdhd o2 ARl &
A § U7 T € 6 He &l faded g1d T +ft /e # 98l & SiHdl & U Plg gaRl
faeed =1 uT| fdt +ft aRe a6l IR <ot oI TRINSTA T 3 S |ehal T, |l o A6 IR
1 Y1 98T 8¢ gTa e e A1 Apdd & oy Ryt gATa v € v et g
T H U Y STGT 3R i [dbedl & ofa g ot fRufa o gt =nfew) @t &
U g fadey 381 91fet foh 3 =g o) W& g &l el 4 SaR < |
%-Eﬁﬁumamwwaﬁévwmﬁsﬁwsﬁmﬁmmﬁwww
, HI? (2)
2-1930 § 3{TSITE 814 & &l ¥ 9 2000 T &R 19 o D! g1 Sitd e o
(1)
3-3qYd IId didad i fby faRivdT &1 fa #R @182 (1)

Read the source given below and answer the questions that follow:

In China, elections are regularly held after every five years for electing the country's
parliament, called Quanguo Renmin Daibiao Dahui. The National People's Congress has
the power to appoint the President of the country. It has nearly 3,000 members elected
from all over China. Some members are elected by the army. Before contesting elections,
a candidate needs the approval of the Chinese Communist Party. Only those who are
members of the Chinese Communist Party or eight smaller parties allied to it were
allowed to contest elections held in 2002-03. The government is Since its independence in
1930, Mexico holds elections after every six years to elect its President. The country has
never been under a military or dictator's rule. But until 2000 every election was won by
a party called PRI. Opposition parties did contest elections, but never managed to win.
The PRI was known to use many dirty tricks to always formed by the Communist Party.
win elections. All those who were employed in government offices had to attend its party
meetings. Teachers of government schools used to force parents to vote for the PRI.
Media largely ignored the activities of opposition political parties except to criticize
them. Sometimes the polling booths were shifted from one place to another in the last
minute, which made it difficult for people to cast their votes. The PRI spent a large sum
of money in the campaign for its candidates. In China the elections do not offer the
people any serious choice. They have to choose the ruling party and the candidates
approved by it. In the Mexican example, people seemed to really have a choice but in
practice they had no choice. There was no way the ruling party could be defeated, even if
people were against it. These are not fair elections. Holding elections of any kind is not
sufficient. The elections must offer a real choice between political alternatives. And it
should be possible for people to use this choice to remove the existing rulers, if they wish
so.

1-Why can the Chinese government not be called a democratic government even though
elections are held there? 2)

2-___ always won elections in Mexico since its independence in 1930 until 2000. (1)
3-Does the given source explain the significance of which feature of democracy? (1)
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T 4.1 BT LT B 3R IR ¢ G| & ofad HHferaa:

36-(31) BHRT <X fohe a8 & Wrera It a 200 fAfere e ufd ay uR g um

(D

36-(F) YR | vl G1& H 3N SdTGT | Halid G e 852 (2)

36-() T 2000-01 T HRT JeTe- H TAR 3G 81 81 82 (1)

Study the Graph 4.1 and answer the following questions:

36-(a) In which year did our country cross the 200 million tonnes per year mark in food

grain production? a1

36-(b) In which decade did India experience the highest decadal increase in
food grain production? ?2)
36-(c) Is production increase consistent in India since 2000-01? 1)

TS-T /Section F- AT STETRT /MAP SKILL-BASED QUESTION (2+3=5)
3y & FRAT AARF WA AP A SR B Sifbd g1 AFAAP S s mum Ay gs 5
o YT foram 1| 391 <=M ) Ug T SR S Tal A1 AT WR Sifed s iR

On an outline map of the world, two nations A and B are marked. These are Allied
powers that participated in the First World War. Identify these countries and write
their correct names on the lines marked on the map.

YRA & T qHRE R Hafafad 3 8 fos diF & Sugad Udid! & A1y Jrst
3R A PR

1-Feer 7

2-Juibies i yufurdt o

3-h 3@l

4 o1 S

On the outline map of India locate and label ANY THREE of the following with
suitable Symbols.

1- Narmada river

2-Tropical Deciduous Forest — Vegetation Type

3-Tropic of Cancer
4-Chilka Lake

frafead uy Had = aiftd ol & R Uy TB37 F AR S

37-31

1-"E HRIRC A" T (e fore, fora qTerare faarl &t g &t
2- T8t Hifd P SRM SeRifdd urdf & A1 B A2

37-9

1-3R9 IR ¥ U gIUl & g &1 94 Jasd |
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2-HRd ¥ 5y 7} &1 IRM (319arg 07) Jad 937182
3- Rciiurer sral-Roid {5y Iroa & fya 82
4- TSI YR B Gl st A B A g

The following questions are in lieu of question no 37 only for visually Impaired
students

37-A

1- Who wrote the book "The Communist Manifesto," which laid the foundation for
socialist ideas?

2- Who was the leader of the Bolshevik Party during the Russian Revolution?
37-B

1-Name the group of islands lying in the Arabian Sea.

2-Which river has the largest basin in India?

3- In which state is the Simlipal bio-reserve located?

4- Which is the longest river of the Peninsular India?
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